8 4 | Ecrou M8 nufocossont AZ
7 & | Goujon MBx95 ZN
6 32 | Vis de Penture ®6x25 Inox AZ
5 & [ LAME DE BOIS 22 x 115 x 850
4 & | Vis BHc M10x30 AZ-70
3 8 | Rondelle Plate ®10M A2
2 1| TABLE DE PIQUE-NIOUE
i 4 | PIED TABLE
X| N° | @té | Déscription

8 & | Ecrou M8 nutocassant A2

s & | Goujon MBxS5 ZN

6 | 32 | Vis de Penture ®6x25 Inox AZ

5| & |LAMEDE BOIS 22 x 115 x 850
4| 8 | Vis BHc M10x30 AZ-70

3 & | Rondelle Plote @10M A2

z 1 | TABLE DE PIQUE-NIGUE

1 4 | PIED TABLE

X |N°| Qfe | Déscription

PROZ@N



PROZ@N



PROZ@N



621 _,

829

829

1470 R
]
1] =
oo - =
I 55 L1
1630
1Tl ()
3 FH
- 950
L |
1 I
- -] <
b |
850
1] ] I__|
20, /) 1k
i R ! Nz
|
. 1
510

y
o L
X o
1340 &
! ! | | ! —! =2
L] I‘ 829 I‘l 1.1
1500
e ]
< o=
2 &
950 =
'r=
m% = ?.:.-"
- (=
I 850

PROZ®@N



